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Q1. Choose the correct answer. 1X10=10 Lo na faliz b Je.1 Ay

1. Atriangle can be constructed if the sum of the measure of the any two sides LY, }_,J{Jf P o KEne) ,;u’f ﬁ.-_—_JﬁL?JL;_&.ﬁ‘_,Q N

is ...... the measure of the third side: |
A0l (D) Equal to 12 (C) Greater than »:L (B) Less than ¢ (A)

Greater than and equal to

2. An equilateral friangle .......

?L?i’f:“"j?)} (C)
Can be obtuse angled

ﬁ:.t'ﬁﬁﬂﬂfﬂj 6U1(D)
Has each angle equal to 50°

3. If the sum of the measure of two angles is less than 90°. then the triangle is

Right angled .://1.76 (D) Obtuse angled ~s.;.> #* (C)

4. The line segment joining the midpoint of a side to its opposite vertex in a
triangle is called ......:
Circle »#1> (D) Angle bisector —z<t¢ .1 (C)
5. The angle bisectors of a triangle intersect at .......
Four points 4& /& (D) Three points 4&¢% (C)
6. Locus of all points equidistant from a fixed point s ......:

Parallel lines 4+ 15 (D) Angle bisector 2t .1 (C)

7. Locus of points equidistant from two fixed points is ......:

Parallel lines £+ S5 (D) Angle bisector —:<t¢".s1; (C)

8. Locus of points equidistant from a fixed line is/are ......:

Parallel lines 45§15 (D) Angle bisector —<t§.s1; (C)

9. Locus of points equidistant from two intersecting lines is ......:

Parallel lines 1+ $i15 (D) Angle bisector —:<t¢.s1 (C)

10. The set of all points which is farther than 2 km from a fixed point B is a
region outside a circle of radius ...... and centre at B:

2.1 km (D) 2km (C)

Q2. Write answers of the following questions.

1. Construct A ABC with the given measurements and verify that the
perpendicular bisectors of the triangle are concurrent:

mAB =5 cm, mBC= 6cmadmAC =7 cm

e S Wt $aL5 L .2

< G AUigils (A)
Can be isosceles

e (stnnilieForrf 90 Ugiin /1 3

o G55 07-76 (B)
Can be right angled

Acute angled - siiesb (B) Equilateral { weui$sLs (A)

L:'_L"ll:ﬂ?Uﬂ&ufix-ﬂ@:fkﬁfjééiibﬁ‘ugﬁﬁ;ﬁu 4

Perpendicular bisector —s<t($:+* (B) Median _:-» (A)

HESE st Ll B

Two points L& (B) One point £ £1 (A)

bl g e B S 2SI B

Perpendicular bisector —:<t($ss* (B) Circle ».71: (A)

&

Z.-'_L"JJH“....u:f,;&EJ:IJ:LJ:E;c):VJJKJLJKJ:E: N

Perpendicular bisector —<t($»+* (B) Circle »715 (A)

Z;:*_t'l,[f(. ..... uﬁ,;é‘lﬁ,:!;:;.kidfffﬁéw';ﬁﬁ: 8

Perpendicular bisector —<t($»+* (B) Circle »715 (A)

Z.-:'_t'JJr:'i.....uﬂﬂﬁﬁaléabﬁir‘zgﬂﬁjbﬁﬂﬁ: 9
Circle ».71: (A)

jlkﬂr:l_réf_flh..ljUﬁﬂﬁﬁﬁaigiaﬁﬁzcﬁﬁ}ﬁfﬁd{K,!:E;r'l; 10
_uT_.t'ﬂB}(/JJI ..... .JIJJKU"?

1km (A)

Perpendicular bisector —z<t($ss* (B)

19km (B)

5X4=20 SIS F MR LW a2 Ay
ﬁiﬂﬂfﬁLﬁ:}fiiﬁfq;&fﬁmuﬂ ﬁABCLuﬁ@Jﬁ; J
mAC=7cm»mAB=5cm, mBC= 6cm
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2. Construct a triangle LMN with mLM =7 cm, m /L = 70° and ;:!mm =7cm, m4AL= 70° AU SELMNELs |
m £ M = 45° Find a point within the triangle LMN which is equidistant ﬂﬂggiuémﬂi_ﬁifr}vﬁw_QJJIZ_LMN&_ﬁﬂmZM = 45°

from L and M and 3 cm from L. g Log L 2253 Ly
3. Construct a triangle ABCD with mAB =5 ¢m and »mBC =3.2cm~mAB =5 cmJiv* _JLABCD =" oLl .
mBC = 3.2 cm - Draw the locus of all points which is: at a distance of Uf'jhgfgpﬁsﬁ'ifv-ﬁ,;&iﬁéﬁg?fﬂ;Aﬁfﬁq‘ﬁﬁwﬂﬁirﬁ
3.1 cm from point A. Label the point P inside the rectangle which is 3.1 cm st &6 e BuslBusin 6L 2 E 31 ALz %
from point A and equidistant from Aand B. i : )
4. Construct a triangle XYZ with mYX =8 ecm, mYZ =7 cm and smYX =8cm, mYZ=T cm /S  JeXYZel .
mXZ =6.5 cm.Draw the locus of all points which are equidistant / Kl X7 #XY _,wa-,_Jp,J i J?E:fi;‘.‘ﬂ-ﬂmﬁ =6.5cm

fmmWandﬁ. e
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